. VCE & PDF https://www.pass4itsure.com/c2010-555.html
g 2024 Latest passditsure C2010-555 PDF and VCE dumps Download

PassditSure.com

C2010-555%4As

IBM Maximo Asset Management v7.6 Functional Analyst

Pass IBM C2010-555 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.pass4itsure.com/c2010-555.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

C2010-555 Study Guide | C2010-555 Exam Questions | C2010-555 Braindumps 1/3


https://www.pass4itsure.com/c2010-555.html
https://www.pass4itsure.com/c2010-555.html
https://www.pass4itsure.com/c2010-555.html

VCE & PDF https://www.pass4itsure.com/c2010-555.html
a 2024 Latest passditsure C2010-555 PDF and VCE dumps Download
== / PassditSure.com

QUESTION 1

The user wants to have a new job plan reference an existing job plan so that the data in the existing job plan will be
available without re-entering it.

What is the name of this feature?
A. Nested job plans

B. Job plan revisions

C. Job plan sequences

D. Attachment job plans

Correct Answer: B

QUESTION 2

A quantity of 5 is received on a PO Line which has a quantity of 10. The user performed this receipt in error and wants
to reverse the transaction.

Which is the most accurate statement?

A. The Select Receipts to Void function can be used.

B. The Select Receipts to Void function cannot be used when a partial receipt has been made.

C. The Select Items for Return function will not allow the user to receive the PO Line at the Later time.
D. The Select Receipts to Void function will not allow the user to receive the PO Line at a later time.

Correct Answer: A

QUESTION 3

A user is searching for a classification to add to a record in Work Order Tracking and is unable to find the known
existing classification. What could cause this?

A. Work Order record is in WAPPR status

B. User does not see the Classifications application

C. WORKORDER is not a Use With object for that classification

D. The classification is not associated with the work order\\'s location

Correct Answer: D
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QUESTION 4

Which application must be used to create services that can be selected from a value list on a purchase order?
A. Service Items

B. Service Records

C. Common Services

D. Standard Services

Correct Answer: A

QUESTION 5

An administrator is setting up security to enforce site specific restrictions. What type of security group does the
administrator need to create?

A. Maxadmin

B. Independent

C. Administrator

D. Allow restrictions
Correct Answer: A
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